Notch New 6x6 PT Post
And Thru Bolt w/ (2) 1/72"¢

IOI—7y4“

4'—8y2"

6|‘3" 6'—Q" 5|__o|l
=\<r 4x4 PT Post Up
q For Railing
K Typ. of (7)
™ PT 2x& Band Joist
= = =
_ — (2)PT 2x10's - _
B X, = =
N B
N A P.T. 2x8's @ 16"0.c. M
o _ 1 1
= Hahger—i { New 4x4 PT Post [ &
> AR } (3 On New 12"¢ Sonotube
R = " = Typ. of (2) New 6x6 PT Post _
S On Exist. Footing N
~ Existing Stairs Typ. of (4) K
_| to be Re-built e
= -
. PT 2x8 Ledger \\/M%
i T
i L Existing House i
| |
| |
FIRST FLOOR FRAMING PLAN
scale: 1/4"= 1'-0'
g::; v Simpson Post Cap ACE6
Hand Fasten New éx6 Post to Notch New &x6 PT Post
Exist. Girder And Thru Bolt w/ (2) 1/72"¢
Carriage Bolts to Carriage Bolts to
Exist. Girders Exist. Girders
3 New PT 2x8 )
T -
C C C
()] (Y] ) i
Be) O O
L o L @ £
& < & £ &
=N x E x t *
> N S N S N
R « - = U - Notch New 6x6 PT Post
o ~ - ~ - ~ And Thru Bolt w/ (2) 1/72"¢
. %) . ()] N .
« < - < - Carriage Bolts to
< o = tH < Exist. Girders
k k i -
Exist 2x Ledger 3
| | V
i J L Existing House i Sim.
| |
| |
SECOND FLOOR FRAMING PLAN
scale: 1/4"= 1'-0'
Simpson Post Cap ACEG
To Fasten New 6x6 to
Exist. Girder
‘;7
=
C C C
9 ) )
B O O
RS oy R = Q@ L
& % S £ &
N x x C x
§| %:\ uE_ N “E N Simpson Post Cap ACEG6
o M A ) N I To Fasten New 6x6 to
5 ® . o . Exist. Girder
S - s
2 b 2 = 2
il 1 w1 T
Exist 2x Ledger ‘i"&

Existing House

THIRD FLOOR

Sim.

FRAMING PLAN

scale: 1/4"= 1'-0'

Note: Do NOT Notch Posts

4x4 PT Post @ 4ft oc Mox.
Attach  w/Simpson DTT2Z

%' Threaded Rod
Per Simpson Instructions

Building
Exterior Wall

Contin. Flashing
2x10 PT Ledger

Decking.

PT Joists, 2x8's @16"oc

/

><:|

=l

A

<<

Thru Bolt 1/2"¢ —/

Simpson HI Clip E
Girder 2-2x10 PT

T

span=10ft w/(2)%'¢ bolts

a. Joist
max.

(O]
Q to Col.
S
Z|  Simpson ABUb6 Post Base 1/4"$x4" Concrete Screws
w/ (1)5/8"x4" Epoxy Anchor Two Rows 8"oc Stagg'd
Equal To Powers ACIO0+Gold _ x
3 New 6x6 PT Post
| e On Existing Foundation.
]LJ See Plan
\—//
Grout Solid the Existing Void
In Top of Concrete Piers.
Use SIKA212 No-shrink Grout, A/
or Equal
SEC—HON m EXTERIOR DECK FRAMING SECTION
Scale: 3/4" = 1’0" @

STRUCTURAL DESIGN CRITERIA:
1. Building Code: IBC 2015 International Building Code (Maine Building and Energy Code)

2

. Design Loads:

3. Floor Live Load =

4. Deck Live Load =

NOTES:

Design Wind:

Ultimate Wind Speed = 120 mph
Exposure Category "B"

Risk Category = Il

40psf
40psf

Design Show:
Ground Snow = 60
Thermal Factor =1.0
Import. Factor =1.0
Exposure Factor =1.0

I. ALL WORK SHALL COMPLY WITH THE LOCAL BUILDING CODE. (MUBEC)

2
3
4
5

. VERIFY ALL DIMENSIONS IN THE FIELD PRIOR COMMENCING WORK.

. ALL JOIST ¢ GIRDER MATERIAL SHALL BE SPF#2 OR BETTER

. Reserved

. PRESSURE TREATED LUMBER SHALL BE SYP NO.2 OR BETTER TREATED WITH
WATERBORNE PRESERVATIVES PER AWPA STANDARD Ul, COMMODITY SPEC. A,
TO THE USE REQUIREMENTS OF USE CATEGORY 2 (UC2)

Decking.

T.0. Deck

e

AN

(2)2x8 PT Bolted to
(2)3/4"¢ Bolts
4x4 PT Post

Simpson ABU44 Post
w/ (1)5/8"x8" Headed
Abolt

-~

4x4 PT Post w/ |
(2)3/4" Bolts to f
Rim Joist
()
(o)
PT Rim Joist
|
3
S
> |
-
Fin. Grade = |¢ |
Elev. Varies N >
c ¥ I
O
E) (2) #4 Bars/ \
3 \
o
-+
$ |
- 10" Sonotube
= N
) |
Q
< | Undisturbed Earth
|
N\
R =
SECTION A
Scale: 3/4” = 1'-0" \5_1/

2x PT Joist w/ Hanger

Post w/

Base

WOOD FRAMING NOTES:

I STRUCTURAL LUMBER:
SPRUCE PINE FIR NOI/NO2 OR BETTER

Fb =
Fc

875 PSI
150 PSI

MANUFACTURED LUMBER:
BOISE CASCADE VERSA-LAM 2.0 3100

Fb
Fc

3100 PSI
3000 PSI

2. DESIGN CODE:

IBC 2015 / NATIONAL DESIGN SPECIFICATIONS FOR WOOD
CONSTRUCTION BY THE NATIONAL FOREST PRODUCTS

ASSOCIATION.

3. SPIKE TOGETHER ALL FRAMING MEMBERS WHICH ARE BUILT-UP

USING MULTIPLE 2x LUMBER.

4. PROVIDE GALVANIZED METAL TIES EQUAL TO SIMPSON H2.5
HURRICANE TIES BETWEEN ROOF RAFTERS OR TRUSSES AND

125 PSI
1400000 PSI

Fv =
E =

Fv = 285 PSI
E = 2000000 PSI

SUPPORTING WALL MEMBERS, UNLESS SHOWN OTHERWISE.

PROVIDE GALVANIZED METAL CONNECTORS EQUAL TO SIMPSON
TC26 TRUSS CONNECTOR BETWEEN ALL ROOF SCISSOR TRUSSES
AND SUPPORTING WALL MEMBERS, UNLESS SHOWN OTHERWISE.

5. PROVIDE PRESSURE TREATED LUMBER FOR ALL LUMBER IN

CONTACT WITH MASONRY OR CONCRETE.

6. ALL NAILS,

SPIKES, BOLTS ETC.

GALVANIZED.

FASTENING MEMBERS TO PRESSURE
TREATED LUMBER SHALL BE EITHER STAINLESS STEEL OR HEAVY

/0 Dow Street

Portland, Maine

PROJECT DIRECTORY

OWNER:

TIM GEBHARDT

DESIGN PROFESSIONAL :

MACLEOD STRUCTURAL ENGINEERS, PA
90 BRIDGE STREET

WESTBROOK, MAINE 04092

TEL. 207-839-0980

GENERAL CONTRACTOR:

TBD

PROJECT DESCRIPTION:

THIS PROJECT CONSISTS OF -
REBUILDING DECK UTILIZING EXISTING
FOOTINGS. ADDITIONAL POSTS/FOOTINGS
AS SHOWN

GENERAL NOTES:

|, STRUCTURAL DRAWINGS SHALL BE USED IN CONJUNCTION WITH
JOB SPECIFICATIONS AND ARCHITECTURAL, MECHANICAL,
ELECTRICAL, PLUMBING, AND SITE DRAWINGS. CONSULT THESE
DRAWINGS FOR LOCATIONS AND DIMENSIONS OF OPENINGS,
CHASES, INSERTS, REGLETS, SLEEVES, DEPRESSIONS, AND
OTHER DETAILS NOT SHOWN ON THE STRUCTURAL DRAWINGS.

2. ALL DIMENSIONS AND CONDITIONS MUST BE VERIFIED IN THE
FIELD. ANY DISCREPANCIES SHALL BE BROUGHT TO THE
ATTENTION OF THE ENGINEER BEFORE PROCEEDING WITH THE
AFFECTED PART OF THE WORK.

3. THE STRUCTURE IS DESIGNED TO BE SELF SUPPORTING AND
STABLE AFTER THE BUILDING IS COMPLETE. IT IS THE
CONTRACTOR'S SOLE RESPONSIBILITY TO DETERMINE ERECTION
PROCEDURES AND SEQUENCE TO ENSURE SAFETY OF THE
STRUCTURE AND PERSONNEL DURING ERECTION. THIS INCLUDES
THE ADDITION OF THE NECESSARY SHORING, SHEETING,
TEMPORARY BRACING, GUYS OR TIEDOWNS. SUCH MATERIAL
SHALL REMAIN THE PROPERTY OF THE CONTRACTOR AFTER
COMPLETION OF THE PROJECT.

4. ALL APPLICABLE FEDERAL, STATE, AND MUNICIPAL REGULATIONS
SHALL BE FOLLOWED, INCLUDING THE FEDERAL DEPARTMENT OF
LABOR OCCUPATIONAL SAFETY AND HEALTH ACT.

IT 1S THE OWNER'S SOLE RESPONSIBILITY TO EMPLOY ONE OR
MORE SPECIAL INSPECTORS (IF REQUIRED) TO PROVIDE INSPECTIONS
IN COMPLIANCE WITH ALL APPLICABLE REQUIREMENTS OF IBC 2006.

o

I |/4II¢
Hand Rail

Exist.

Exist.
Match

K

Match

Composite Decking
on PT Joists
(See Framing Plan)

PT Guard Rail

System _

3|—6”

I I/4ll(p
Hand Rail

Fin. Grade
Field Verify

2"x16" Conc. Pad

—

DE TAIL

STAIR SIDE VIEW

/A\TYPICAL RAILING AND EXTERIOR STAIRS

Scale: 3/8" = 1'-0"

\_—_/ WHERE APPLICABLE

GUARD RAIL SIDE

NOTE: Existing non-conforming Stairs
may be re-built using existing
dimensions.

Exist. Decking.

/ / Exist Joists
/

/

| | | |

W

Building
Exterior Wall \

—

Contin. Flashing
2x10 PT Ledger

Exist.Fir Decking.
Exist Joists

Exist.Fir Decking.

/

E NS

|

|
"/

\\— Simpson HI Clip Ea. Joist

Exist. Girder w/(2)3/4'¢ bolts
to New 6x6 PT Column (Notched)
Both Sides

New 6x6 PT Column

SECTION 3N
Scale: 3/4” = 1'-0" @

1 ﬁ[\

\— Simpson HI Clip Ea. Joist

Exist. Girder w/Simpson ACEG Cap
to New 6x6 PT Column

1/4"¢x4" Concrete Screws
Two Rows &"oc Stagg'd

New 6x6 PT Column

SECTION N
Scale: 3/4" = 1'-0" w

P

/ / Exist Joists
/

/

A,

St CTION

Exist. Girder w/Simpson
ACE6 Cap
to New 6x6 PT Column

New 6x6 PT Column

(5

Scale: 3/4" = 1'-0"

\S/

ISSUED 5/02/18

These drawings are the property of MacLeod Structural Engineers, PA
and are for the exclusive use of:
Use of these drawings by others without written consent is prohibited.
STRUCTURAL ENGINEERS, PA
90 Bridge Street Suite 252
Westbrook, Maine 04092  207.839.0980
7 Rebuilt Deck
S | 20 Dow St
\\\\\ “E‘or"‘ﬁ/ /‘/// Portland, Maine
R Y2
S, BRUCEW. %y=
=% WACLECD ';* =
= i No. 5422 ;:0: = -
Z &S TE: Framing Plan
2 R
DATE 042318 | orawN BY:BwM | DRAWNG NumBER:
SCALE:  as noted | PROJ No: 2018-018 | S—1




